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1. The roots of the quadratic equ
517 + 13x + k= 0 are reciprocal to each other, then
value of k will be

(A) §
(B) 0
(©) 4
(D) 6

2. The ratio of the number of boys and gitls 1s
3:2. 1f 20% of the boys and 30% of the girls are
scholarship holders, then the percentage of students
who do not get scholarship is

ation

T
(A) 50 gff r‘% 1‘?“-;}
(B) 72 oL
(©) 75 }e e
76 P

3. If a person walks at 14km/hr instead of
10km/hr, he would have walked 20 km more. The
actual distance travelled by him is

(A) S0km =0
(B) 56km ot
J€) 70km
(D) 80km

4. A dishonest merchant professes to sell his
goods at cost price, but used a weight of 900 grams
for one kg. What is his profit percent?

(A) 10% v
yﬂ’nlﬂ: 1
9
1 <
(©) 9%
D) 11%

S. Two trains, one from Howrah to Patna and
other from Patna to Howrah, start simultaneouly,
After they meet, the trains reach their destinations
afier 9 hours and 16 hours respectively. The ratio
of their speeds is

(A) 2:3
(B) 4:3
(C) 6:7
(D) 9:16

=Lty

6. Acylindrical vessel of radius 4cm contains
water. A solid sphere of radius 3cm is lowered into
the water until it is completely immersed. The
water level in the vessel will rise by

{A) -z—nm

(B) —cm
(C) =cm

(D) =cm ;

7. A shopkeeper purchased a chair mark_gd at
¥ 800, at two successive discounts of lu%;fgnd
15% respectively. He spent T 28 on transporation
and sold the chair for T 800. His gain percent 18:
gt

(A) 40% $
o ﬁyd
€5 25% L Y )
O 4% oo 2T as/ 5’
€% ‘E%: AR {
S . ( *
o

8. The remainder, when (x’ +3x% +3%+1)
15 divided by (x— 1), is
(A) 1
(B) 0
@ 2
(D) 8

9. Ifa man goes to a place at an
average speed
of 10 km/hr and then returns at the averag iad

of 15 km/hr, Find his a g
Wholc i verage speed dun_Fg the
(A»12 kmv/hr 10,4 €
(B) 125 kmmr A€ -'©
(C) 13 km/hr 3§ 2
(D) 15 km/hr
%



Direction: In the question same codes have
been used (0 write words. Try to find out the
rule of coding in each case and answer as
direction in the OMR Answer Sheet,
10, Incertaincode "PLAY" is written as “TPEC"

How could ‘GAME’ be written in that code?

(A) KEQA

(B) KIQE

(C) KAQI

}H) KEQI

per

11. A does halfl as much work as B in three-
fourth of the time. If together they take 18 days to
completea work, how much time shall B take to do
it alone?

/LA—)""JG days ALY f'l-.'r'}r
(B) 35 days Ao
(C) 40 days 4l "-1-;
(D) 45 days g {
Pits
=
8 e U
(A) a
(B) b
(C) —a, -b
D) a b <

13. A and B started a partnership investing
amounts in the ratio 2 : 3. After 6 months, C joined
the partmership with an amount equal to that of B.
The profit at the end of one year should be
distributed among A, B and C in the ratio:

(A) 2:3:3 LA
AB) 4:6:3 2'--”*;}3
(€ 2:6:3 e

D) 4:3:6 S 402
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s /4 5 6
2 21 [318 [P
(i) (ii) (iii) (iv)

Which number is at the opposite face of
number 27

(A) 4

AB) |

(€ 5

(D) 3

15. 7th term of the A.P. 5,12, 19,

;.%_45 A 7 2]_ by Mo
47

(C) 40

(D) 33

16. The mean proportional of 16 and 25 is
(A) 400
(B) 100
(C) 20
(D) 40

u 1€

17. Tf 4 x 5* = 500, then the value of x* is—

A) 8
EB;I BIERE
(C) 64 ¢! >

{(D} 27

18. Average weight of 25 persons is increased
by lkg when one man weighing 60 kg is replaced
by a new person. Weight of new person is

(A) 50 kg NI

(B) 61 kg MDA

(C) 86kg ¢ o B
¢l

(D) 85 kg
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19. A cylindrical cistern of diameter 25cm is
full of water. If 11 litres of walter is drawn off, the
water level in the cistern will drop by [um n= 3_% :

|
A) 10=
{ 10 3 cm

(B) Il%:m

) 11-_37::11

(D) Il}%m

20. P.QandRcandoajobin 20,30 and 60 days
respectively. The number of days P can do the job
if he is assisted by Q and R every third day is

(A) lldays P 1:_1-.. (=
/Fﬂfljd.uys 1 [{n \
(C) 17days

(D) 16days 3% &

3=

21. Onariver, Bisequidistance from both ends
A and C. If a bost can go from A to B and back in
6 hours and from A 1o C in 8 hours, how long
would it take to go from Cro A?

(A) 2 hours

(B) 4 hours

(C) 5 hours

(D) 6 hours

22, Astudent gets29% marks uﬁﬁ.ﬁcihﬁhinutinn
but fails by 24 marks, If the pass percentage is
35%, the maximum marksare

(A) 200 8 LY
(B) 300 '

400
(D) 500

23. A man bought an article for 221, What was

the marked price of the article if hé had bo
article at 30% discount? S

,w’rzu
(B) ¥32
(C) T33:50
(D) T35

i
8 "-%ﬁ'l"f

C-4

24. The ratio of investments of two partners I8
L1 : 12 and the ratio of their profits is 2. J.IfA
invests the money for 8 months, find for how much

time B invests his money?

{A) 11 months | X% y ,..?:-

(B) 8 months (LR

(C) 4 months 1P

(D) 3 months 157&? -
24

25. IfT 12650 is divided among A, B and Cin
the ratioof 2 ; fl i 4, the share of B exceeds that of

8 i
(A) T3650  ( 2f A x)
(B) ¥35500 4T o0 "
gertaaso W\ yne 0
(D) T3350 91 ,31:::"'5?_

26. A and B can do'a work in 8 days, B and C
can do the same work in 12 days. A, B and C
together can finish it in 6 days. A and C together
will do it in

A8~ €
(B) 6 days pAalie—6 /N

(C) 12days 52 |

/LDT'/H days

27. The average marks oblained by 9 students
was caleulated to be 65. Later on it was found that
fhﬂ marks of one student was wrongly read as 76
instead of 67. The correct average is:

(A) 56
ABT 64
(C) 66
(D) 74

2
(

28, Facping 1.11: tudius of a right ::in:ulén- cane
same, if H?i: height of its increased thrice, the
volume of it will be increased by: ’

(A) 100%
(B) 200%
(C) 300%
(D) 400%



Y
\_a‘ .
‘Aif:i a

29, Atapcan fillutankin 6 hours. After half the

~

tank is filled, three more similar taps are opened.
What is the total time taken to fill the tank
l:ﬂmp'il:tcli’? i 3 L)
(A) 4 hours x

(B) 4 hours 15 minutes M
(€) 3 hours 15 minutes o ul

3 hours 45 minufes

30, ‘A person lent two equal amounts of money
at 12% p.a. for 3-5 years and 5-5 years respectively.
1f difference between lwo interests is T 1,800, find
total sum lent. %%

(A) T 6,000 | 2 3‘_,;: aC
< 7,500 4 r..-i‘;f‘

(©) T 12,000 o

D) T 15,000 <

31. On a certain some of money, the simple
interest for 2 years is ¥ 350 at the rate of 4% per
annum. If it was | invested at compound interest at
the same rate for the same duration as before, how

much more interest would be earned?
(A) T3.50 3O W20 ?ii 1
37 AT &

() T 14 py;‘f;g b %,;j:
@ T35 Lk v 1L
32. A merchant mixes two varieties of wine
containing 25% and 13% alcohol, The resultant

mixture contains 17% aleohol. Find the quantity
of second mixture, if 8 litre of first mixture is

T.Bkﬁl'l. A ‘b‘lij
) 4 litres (RS -~
1 . l_'
(B) 16 liwes |\ o

(C) 24 litees ~ ~
(D) 32 litres

10
33. Y (10xi)=1
H.

(A) 650
(B) 450
(C) 550

(D) 750

C-5
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34. Rateof income 1ax is increased from 4% to
5%, However, the total tax liability of a person
femains the same as was in the last year. If his
income for the last year was T 1,00,000, find his
present income.

(A) T 1,25,000 L’E"’ﬂ;;ug 22

(B) T 90,000 ( 3
Z 80,000 go =

(D) T 75,000

35, If a man allows 20% discount on all his
articles, the number of the articles sold is increased
by 20%. What will be the effeet on total sale?

(A) 40% increasc : S_ er
(B) 4% increase C %
(@Y 4% decrease __.71--’_{,"'"";: |
(D) No effect § e

36. Train A took35 minutes to cover adistance
of 50 km. If the $peed of train B is 25% faster than

train A, it will cover the sime distance in: P
(A) 25 nunutes \o

‘ : £ 4° {

28 minutes & — , |

. ¢ 2=

(C) 30 minutes Hiut *op ™ "5?1

(D) 36 minutes 2 l@ :
3

i

37. If selling price of a commodity is increased
by E_Bi the profit is increased by 7%. Find cost
price of the article. '

(A) T 245
(B) T 350

T 500
(D) X700

WhE ‘)ﬁt'i 1
38. 24576, 6144;. 1536, 386, 96, 24. Find the

odd number of the above series.
(A) 96
);Br)" 386
(C) 1536
(D) 6144
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39. Some sweets were to be distributed equally
among 175 students of a school. But due to absence
of 35 students, each child got 4 more sweets. How
many sweets were distributed?

W

(A) 2400
S B Rl
' o € T a0
(C) 2480
A A" (D) 2680
40, A certainamountof money has to be divided

between two persons A and B in the ratio 3 : 5. But
it was divided in the ratio 2 : 3 and thereby B loses

T10. What was the amount?
-] t'ﬂ -]
(A) T250 3 ) Koot
(B) T300 e B
(© T3s0 ¥ ° o Al
Dy Ra00 47 W
: 10
41, 1f4***=2%*34 2 then value of x is
(A) -1
(B) 2
(C) -2
(D) 2

Direction: In the following question, a number
series is given with one term missing. Choose
the correct alternative that will continue the
same pattern and answer on the OMR Answer

Sheet by filling the circle.
42. 3,818 325073
(A) 60
(B) 66 *
©y 72
(D) 82

43. The diagonal of a square is 4v/2 cm, The
diagonal of another square whose area is double

that of the first square, is
8cm ,_qu{"-'
® sim  oT s (.-
(©) 16cm (b Fu'f‘
(D) 442 cm \b é

gue
|

B so that
Z 1,570 between A and
share and T 45 from

the amount

44, Divided .
¥ 25 being deducted from A's .
B's share, their share becomes 2:3,Find

received by A.
A) T 625

(B) T 628
(C) T942
(D) T 945

@ A man gains 10% by selling an article fﬂrla
certiin price. What is profitloss if the article is

sold for half the price?

: _(ﬁT] 40% loss (o
(B) 5% loss (<
(C) 5% profit u (™

-

(D) 55% profit

11w
46. T 2.8201s to be divided among A, B and C

such that 3 times A’'s share is equal to 4 limes B's
share and 5 times C’s share. Find A's share.

(A) 1,200 ¢
B) T950 LA~ "UE'F »f’ 3
(©) T705 o 1 ST
o) 2iess R

~ =R

47. The external bisectors of ZABC and
ZACB of AABC meetatO. ZBAC =70°, yalue
of ZBOC=1

(A) 45°
(B) 55°
(C) 65°
(D) 75°

48. Itlsi:rt the missing number-
10,5, 13, 10, 16, 20, 19,
{A,] o ¥ o=t %
B) 40
(©) 38
(D) 23



oo
a
A,
49, IFA axc:e;:ls B by 40%, B is less than C by
700, then A : Cis: ' J

: ke
;M/zs.zﬁ e €°
(B) 26:25

(€) 3:2 Iﬂ"‘?:
D) 3:1 f‘{'b-.,k
|

@ If the 1-":05" price of 1 20 mangoes is equal to
Zelling price of 110 mangoes, find the gain or

loss pcm:ﬂl:

I:.Iﬁl-} 0%, T'l'# ep = o s
\
(B) 10% %1 PR
i
1= .
© 5% N i
1 Y
(D) 7% | ite
|
4 2

51. Zinc and copper are in the ratio 5 : 3 in
200gm of an alloy. How much grams of copper be
added to make the ratio as 3 : 57 '

o
(A) 72 2( s Pl g
(B) — V& e
200 T
1 3 L E.l-:l.
J{j}?{ﬂl‘-u [ PRy g
, v '
SR PV - ¢
- = . =11\
P4 po%e” At
52. Find the missing pumber: gt

C-7

MWC/VI/2023

53. If food prices go up by 10%, by how much
should a man reduce his consumption so 4s not o
increase his expenditure?

g Ay
I W
(B) 10% l

I -_—
C) 11-% \
(€ 113 \
(D) 11%

54. Inthe adjoining figure,if ZACB= ZBAD.
AC = 8cm, AB = 16cm and AD = 3cm, then
BD=17

(A) 3em
(B) 6cm
(C) 2cm
(D) None of the above

55, What sum of money lent at 4% p.a. for
3 years will earn same interest as ¥ 1,200 eamns in

4 years at 5% p.a. of simple interest?

(A) T 1,000 \[ o ©

(B) 21,500 T‘*‘?/W = vaxerfr(
22,000

(D) T2.500

Direction: In the question there are two words
separated by ‘:* and the other two separated
from the first two by the symbol ‘::’. Find the
relation between two sets of words and select
one word from the right side of *:* which have
the same relation as left side of the word of *:2°,
find the circle of the letter denoting your selected
answer on the OMR Answer Sheet.

56. AB:ZY::CD:?
(A) UV
(B) WX
(C) VU

e
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57. A solution of salt and water contains [5%
salt. If dkg of water i evaported, solution contains
18% salt. Find the original quantity of solution.

(A) |2Lg = §
(H) 18 kg 3 ;‘Eﬁ
24 kg o vz
D) m:i‘ y 2
S o WY RS ._-ﬂ,.‘itﬁ‘ VRS
el ﬂ\rl S —
Ly — ph
. \_\_- o
a

58, A man rows down a river 15 km is 3 hrs.

with the stream and retums in '.Tl hrs. The rote ot
which he rows in still waoter is

>
(A) 2-5 km/r Y )
) LSkmr O A
llc_] 3'5 kmul"hr | e
D) 45kmhr Y7 "‘hﬁ
Lo "’u

ﬂllld]-r‘ the figure carefully and answer the question.
The triangle represents doctors, the circle repregents
Players and the rectangle represents artists,

F

59. How many artists are player§?

(A) 30
(B) 2 v
(D) 17 )

. \\\:\\

.
Y

60, The averngeof | | resylrs i832, The average

of first five result is 27 and (ha
: t
Tesult is 34. The sixy Tesillis of the last five

(A) 48

(B) 50 C 3§72
Ao a1 Ly,

(D) 52

e

- ¥
il b, LU 3,‘1-
C-8 i 3o d
father an hlﬁ
61. The sum of present ages ﬂi:nchfﬂ father’y

son is 36 years, When th son rel
present age, the sum of their ages will be

What is the present age of the son?
(A) < years

80 years,

(C) 9 years
(D) 12 years

62. Sum of present ages of A, B and C is 72
years. I 4 years ago, their ages were in the ratio
Lidisds ﬁndﬁ‘sfficﬂge.

(A) 7 years
(B) 10 years
jo {C-} 12 years

,(D}"'H}fmrs

63. The value of a machine depreciates @25%
p.o. Ifits present valoe is T 14,400, what will be its

— L0

o
: 1a

.

wuﬁh#ﬂe:!ym. ) y 2
. _AAXTE 100 Y
. (B) T9.216

() 10,200 ~ 7
D) T 10, :
(D) 800 ?‘-?

A6
64. Inhow many years will ¥ 2,000 amount to

» T 2,420 at 10% per annum compound interest?

A 3T
O
© 1‘—; e ! iM20
L b
2 ~r;f‘ 1_%

65, !n an examination S8e, of the candidates

o<

- th
Tany candidates appeareq i:ms:t:ﬁ;:xha? e
B — o
(B) 6000 S8 audr
(C) 5050 \'l 1
0 (D) Nnnecfﬂmahm,: S T
ko2 Ty
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6. 1fheratio of boys and girls in a city is 7:4,
which of the fﬂ”'l"f""fﬂs Chn not be the total number
of boys and girls 1 the city?

W) AHBIV-E 4

1 ® Tfmz'- \ ¥

15" (o) 2B#44625- &
D) 20434526 §

67. The value of

I = P SO0 S 1 :
Fods BB Vs JoE

(A) 9

®) 7 l
(© 8 ’jrf"?'fm
@) 80

Lo 5%

68. A group of 15 persons spends ¥ 4,500 in

ns in 4 months, if expenditure per person is

nmc“ﬁmh the cases. Foﬂ
(A) T2,000 \.ﬁ;‘a =
(B) 3,000 (I

(€) T4,000

/ﬁ: 7 5,000

T

\o7

69. The ratio of measurement of an interior
angle and an exterior angle of a polygon is 3:2.
The number of sides of a polygon is.

(A) 5

(B) 10
(C) 15
(D) 20

70. What sum of money will amount to ¥ 3,528
in 2 years at 5% per annum compound inferest?

(A) 3,000

! Y
}B:r 3,200 o :

(D) None of the above 'lffﬁ* K

4

MWC/VI/2023

71. If the radius of a circle is diminished by
10%., then its area is diminished by
(A) 10%
B} 19%
(C) 20%
(D) 36%

72. The average of runs of a cricket player of
10 innings was 32, How many runs must he make
in his next innings so as to increase his average of

runs by 47

/ﬁ’j 76 v
i B
(B) 70 j_,.;
(C) 4 NG
(D) 2

73, Two boats A und B start towards each other
from two places, 108 km apart. Speeds of the boats
A and B in still water are 12 km/hr and 15 km/hr
respectively. If A proceeds down and B up the
stream, they will meet after: ‘ﬁ;é

(A) 4-5 hours _
‘{Bﬁ hours R
(C) 54 hours g 27
(D) 6 hours '\-f

74. When water is frozen to ice, its volume
increases by 10%. What percent of the volume of
ice decreases when it melts to water?

A) 101%
11 ﬁ_'_t._}"f
®) 6-% "
5
|
9L g
) 20
D) 11%

Please Turn Over
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Following question is based on letter 'wri“..] :H
each series some leflersare missing. Themissing
letters are given in the proper sequence ns one
of the alternatives. Find the correct alternative
in each case and mark the right alternative on

the OMR Answer Sheel.

78, abca__beaah__aab__aa__ca
oy = e h

(A) craa

JJH’ aceh

() abac
(D) abba

Direction: In question, numbers are placed in
figures on the basis of some rules. One place in
the figure is indicated by the interrogation sign
(7). Find out the correct alternative o replace
the question mark and indicate your answer hy
filling the circle of the corresponding letter of
alternatives in the OMR Answer Sheet.

6. 11 5 15 9 llw/lﬁ
185 - AN
"{H
(B) 165 % %
(©) 175 )’\‘ﬂ' EE/

(D) 195 A
W

Direction: In the question three out of four
figures are alike in same respect and one is
different from others. Find out the odd figure
and indicate your answer by filling the circle of

the letter denoting your selected answer on the
OMR Answer Sheet,

g

A

1l -
e

I
78. If x+;=
)/;U I.El- +4
Byl @
‘C] _r I"f"”'ﬂ.
(D) 2

L nts o ﬁ', | er
¥ A um {'Jf ....,["]U ﬂﬂ'l(l.l- :

| ¥ .
;::ua“y. What is the rate of interest per annum?
(B) 9% oy
) 10% (Cad
(D) 11%

80. In 240 cc of a mmuxture of glycerine and
water, the ratio of the volumes of waler and
glycerine is 1 : 3xHow much cc of water should be
added with the mixture so that ratio of the volumes
of water and glycerine be 2:37

] 6{] ce L ' G.} 10
(B) 50 cc '___'_..f
(€) 80 ce (__‘_d_,,,-
(D) 40 cc LR,

81. If the sum of T 500 amounis 1o T 575 in
3 years, how much will ¥ 600 to in 4 years at the
samé rate of simple interest?

(A) T 120
(B) T 620 E_*____ Ao
©) Teso LT 64412
2720 e
A7 o

"@'w Pipes A and B can fill g tank in 15
€5 and 20 minutes respectivel

- = B the

pipes are opened together, but after 4 | e

A is turned off. What i "4 minutes pipe
fill the tank? 15 the total HW o
(A) 10 min
(B) 11 min 45 sec lr\; Lo
(€) 12 min 30 sec oo v
e M
Vel 0 Y E 3>
=3} \o. {._,“"f K
=5 =t

M BT

e = Ui = B ~ T
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g3, Two pipes A and B can fill a cistern in 60
minutes and 48 minutes respectively, Both pipes
are opened together. The cistern will b filled in
half an hour, if the pipe B is urned off after:

A 6 minules Lo § p?

(B) 18 minutes g
(C) 20 minutes gy g

/;91/ 24 minutes %ﬁi" o

84, The wages of labourers in factory has
increased in the ratio 22:25 and their number
decreased in the ratio 3 ; 2. What was the original
wages bill of the factory if the present bill is
¥ 5.0007 n 6

(A) T4,000 23

(B) 6,000 y

(C) T 8,000 —ﬂ
M.ﬁm

85. A shopkeeper sold sarees at T 266 each
after giving 5% discount on labelled price, If he
did not give the discount, he will be able to earn a
profit of 12% on the cost pnce What wus the cost

price of each saree?
(A) T 280 “ 'L
(B) T 250 "Eﬁ
(C) T 240 ¥
(D) T 260

86. A circularswimming poolis sunuundtd by
aconcrete wall 4 ft wide, If the area nfﬂwchncn.tﬁ

wall surrounding the pool is is-—l- that of the poal,

then the radius of the pool 18 \\\\ :

(A) 8t &\ v
@) 168 - AN\
(C) 201t \119
(D) 30ft

87, PST:1::NPR:?
(A) 3
(B) 4
1
(D) 7

1
}Wfﬂ-’ MWC/VI/2023
5

fi8. The external diameter of a conical-coronet

made off thermocol is 21 cmin length. Towrap up
the outer surface of the coronet with foil. the
expenditure will be T 5775 at the rate of 10p per
e, The height of the coranet s

({A) ldem

(B) 2B cm

(C) Tcm

(D) 10em

Direction: Read the following information and
answer the question given below:
There are six children playing football namely
A.B,C,D,E,F, Aand F, are brothers; F is the
sister of F: C is the only son of A’s uncle; B and
D are the daughters of the brother of C's father.
89. How D is related 10 A?
(A) Cousin \
(B) Sister
7} Niece -
(D) Unele

90, In an examination, 60% of the candidates

.\ passed in English, 70% in Maths and 40% in both

subjects. How many students failed in both
subjects?

10% e
(B) 20%
(C) 30%
(D) 40%

91. If the distance of the point (=12, y) from

origin is 20 unit, then value of y is
(A) £15
(B) £16
(C) £14
(D) None of the above

Please Turn Over
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92. The H.C.F, of two natural numbe
is b and their L.C.M. is L, then value of a
(Givenh+L=a+b)
(A) W +L'
(B) h+ L
(C) W+ L’
o »-L

rsa and b
14K is

5

L 1

h '
93, Aand B started a pnﬂn:rsh:[;\in which A

contributed % of the capital for 9 months. If A

received % of the profit, for how long B's capital

wiis inm‘md'.’
¥ 3 1.“ ﬁ mumhs
B yfﬁ: B months
(C) 10 months
(D) 12 months

94. Pipe A can fill atank in 15 minutes and pipe
B can drain 40 litres per minute. If both the pipes
are opened together, the cisternis full in 45 minutes,

find the capacity of the cistern. 3 (
(A) 600 litres e 7. T
(B) 750 liters \ (:" 5
(CY 900 liters L1
) 1800 liters 5 ¢ =
-~ ne

95. The product of (2—./3)(2 4 ﬁ)fﬂzﬁ}
(V5-2)=? \

Cc-12
llowing question, @ MiMmber

term missing: Chooge
that will continue the
on the OMR Ansyey

9

* fo
Direction: In the
SEI"IH is g"\"fn \r"h one

the correct alternative
same patlern and answer
Sheet by ﬂlllngﬂtht Iﬁlrd:*
97, 47,27, 107,427, 7
(A) 1262%° A

1707

(C) 4027

(D) 4207

98. A certain sum of money amounts [0 T 600
in 2 years and T 700 in 4 years at a certain rate of
simple interest. Find the rate of interesL.

(A) 5%

LN
(B) 8:16% %{,
10%
(D) 1633%
2495 ¢ itsclf in 41

99. If a sum becomes 3
years, find the rate of interest p.a.?

§i
(A) 4% L)t
(B) 5% -*’q'( £
g, L THEE
(D) 6% ”?T

100, A house worth T 1,50,000 is sold by Xata
5% profitto Y, Y sells the house back to Xatal%
loss. Then find profit and loss in the entire

(A) 1
fB] 2 lrﬂﬂﬂﬂliﬂn.
() 3 (A) X gains T 4,350 If".‘*""g.
(D) 4 B X loses T4350\" _, (00
=
@. ?A+4B ;md C enter into a partnership in the EE; :ius.ﬁ ¥ 3,150 \ | & ?; ﬂﬂﬂ ¢
ratio E:E:? - After 4 months, A increases his B 2150 'i.(?{ e
. I£3: umbers s 5:3.
year be:; :;1:;1 [:;.n B’s share in the prﬁt is i1 }Sg ?dpﬁ;:zl:m tmst!r:mﬂmI1= :I;mhﬁ the ratio hecomes
.0 N b i~
4 ®) 2400 (AT Y HE "f Doy W
| ! . {Ci] ::ﬁ Ly L (C; :_1,: Jvt b FEF_
# ﬂ LA -4"'"{:"
) ¥ (D) 28 On T 2> 2N Lwy ML
-‘/"F Q® -‘srﬂ'f;?_ VAT i W 4 T\ C
Ly AR R M FE S wa O
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glere the four fundamental operations +, -, x
gnd + are represented by symbols from the
gsual one. You have to solve the problem by
qubstituting the real symbol accordingly and
indicate your answer by filling the circle of the
jetter denoting your selected answer on OMR
Answer Sheel.

102, If L denotes x, M denotes +, P denotes +
gnd Q denotes —, then 'IPELIME@?&EL‘II

1 L]
’g:f 2 32N o
() 3 n - N
D) 4 T q
47
L9 A

103. If 35 is removed from data 36, 3:-}. 3:5. '*115
37, 38, 39, 40 then the median increases by:

(A) 2 'I—’"'Lan‘ f;’(

(B) 1'5

© 1 ”%fl/ 2

(D) 05 3 e 2{}(
gt she

104. In an election 75% of the voters cast their

votes: out of which 2% are rejected. If the successful
candidates secures 9261 votes, which is 75% of
the total voles, determine the I,maj number of

volers in that centre. ? . 1..; N
(A) 1680 A
(B) 168000 Y
() 16800  9° 0
(D) 26800 {3

105. The cost of 3 horses is same 4s the cost of
5 cows, If total cost of 4 horses and 6 cows is
¥ 1,900, find the cost of one horse.

MWC/VI/2023

Direction: The diagram shows the survey on a
sample of 500 persons with respect fo their
knowledge of Bengali, Hindi and English.

(o3

B3
English

106. How many persons know all the three
Languages?

(A) 65

(B) 62

33
(D) 47
% 18

107. Fmd lhﬂ wrung num‘u-er in the series:

P 5'8./25,7148, 760, 4626
L Yiéo.

(A) 8 - e
@) 23 o =
(C) 148 ot e
prw L g
: b

-l;
108, Walking at 4

reaches his office 12 minutes loo early. Whatis the

th of the usual speed, a person

usual ame?
’rﬁﬂ/ 48 minutes N = {H
60 minutes [ 1~
(C) 70 minutes Nt Lo (8
(D) R0 minutes - ~

109. The present population of acity is 180000.
If it increases at the rate of 10% per annum, its
population after 2 years will be:

T Mmoo - k-zt;:- (A) 207800 =2
(B) T150 L+ 5 (B) 227800 "’T:"-" gt
(€) T200 iy (a8l er 217800 ALY
_PrRas0 RS RT R0 (D) 237800
("-" /"’J' 2t
g Please Turn Over
ar e n\YC

\
3
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d n business contributing
on 6th men joined the
partnership contributing ¥ 2,000 less than the
average contribution of all the 6 men. Find the
amount contributed by the 6th partner.

(A) T 2,000

(B) T 17,600

(C) T 19,600

(D) T 20,500

110. 5 men starie
¥ 20,000 each. Later

111. A man borrowed T 2,500 at 4% p.a. and
% 1,800 at 5% p.a. simple interest for the same
period. If he pays ¥ 570 as total interest, find the
time for which the sums were borrowed.

(A) 2 years
(C) 4 years \vo o
(D) 5 years (Qe

112. Ifr-,vﬂti. J'—:-Il.z—:cmi- then sum
z x ¥
of three variation constant is:
(A) -1
(B) 0
(C) 1
(D) 1

Smd}r_ﬂm figure carefully and answer the question.
The triangle represents doctors, the circle represents
players and the rectangle represents artists.

1:!3. How many doctors are neither players nor
artists? : 3
) 17
(B) 30
(C) 8
(D) 19

10wl senalt

e tfh jrd'?hziti:dﬁ:iurk Iugn._ﬂi}cr but A
::;F:rt:c:: 4 clyr;)rs dueto illr_#niaas. The remaling Work
was finished by B in: - :f\}fdf?

(A) 5 days 4 c N
6 days 6 p{.

(C) 10 days j{}

(D) 12 days L=

Rahman can do a work in 20
ely. After doing nul]ecflive1j.
leave the work due to illnegs
the rest of the work in 3
Suresh alone can take 1o

115. Ramesh and
and 25 days respectiy
10 days of work, they
and Suresh completes
days. How many days

complete the whole work? &
; () days e ) o
bk ‘Lfr v
(B) 32 days =
(C) 28 days t 0 5
(D) 29 days RIS

116, The area of the circum circle of the
equilateral triangle is 154 cm®. The length of the
longest side of the triangle

0 (A) 7V3em
(B) 7cm
(C) 3-5cm
(D) 28 cm

9" %3 % (27)°
Ix (8N

(A) O ",

{B; , 9 RBRB L
23 pAingiagraed
{D}a,t,:.wug’ﬁ,g LYy

L) ST
118. 4menand 6 women can cui;?m aworkin

8 days, while 3 men and 7 women can complete il

in 10 days. In how many d :
complete it? y days will 10 women

117. If

=27, then value of n is

(A) 35 ™M~tle —8

(B) 40 LwaFw —\O

(D) 50 li P S T
3\""'*'}_15 1\“""5 Iﬂlﬂ"‘p %

ll-"ﬁ-,f,-

i a— Al

| R LT ] =

— R
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119. Ifthe simple interest on asum of money for

7 years at 5% per annum is ¥ 50, what is the
compound interest on the same sum at the same

pate and fgr the same time? Q
& 75125 oS
TB) T52 ! )
(C) T5425 93’ ~
(D) T60 €\

120. A train travelling with uniform speed
crosses two bridges of lengths 300m and 240m in
21 seconds and 18 seconds respectively. The speed

of the train J ny —
/m/‘f'zwm Boe T
(B) 68 km/hr 14 - qﬂf‘#
© 6skmhe  SgsYE °
% S
(D) 60 km/hr Ly plL!P
,Lq't-ﬂ':l_i“ 1,,.11""

121. A grocer purchased 2kg of rice at the rate of
% 15 per kg. and 3kg. of rice at the rate of T13 per
kg, At what price per kg. should he sell the mixture
10 earn 33—% profit on the cost price?

(A) 28
(B) ¥ 20
(C) T 1840
(D) T 17-40

122. The average of marks of 28 students in
Mathematics was 50. Eight students leftthe school
and then this average is increased by 5. What is the
average of marks obtained by the students who left

the sﬂl_p_nl‘?
(A) 375 pE e
(B) 42:5 \ OV
(C) 45 |\ 07 o
(D) 50-5 }}’;&3’ e

0 123, With an average speed of 40km/hr, a train
it reaches the destination on time. I it runs with

N average speed 35km/hr, itis lntw. The

G oo
-(l‘--lﬁqyl?-:II kh'%

¢
MWC/V1/2023

124. 1f selling an article for T 990 causes 10%
loss on the selling pnce, find its cost price.

TA) T 891 e
(B) ¥ 900 ‘:3"?“":-;;1
() 1,100 q;
T 1,089 o
A=
ha%%

125. A man can row 18 kmph in atill water. It
takes him thrice as long to row up as to row down

the river. Find the rate of stream. N W
(A) 6 kmph %,rtﬂ = A
(B)-9 kmph .
(C) 10 kmph A 5 % 9
@) 12kmph B T e

L, S &
"'d.- i i :I 'L\'

126. A sumof T 1,540 is diyided among A, B
L . i
and C in such a way that A receives 5 as much as
et
B and C together receive, and B receive 11 of what

A -and ( together receive, Find the share of C. ‘-L}T
(A) T280 po s

(B) T 330 ¢~ PR |

) 2030 MY o e

(D) T 980 L
3 Ha

127. If difference between simple interest on a
certain sum al 4% for 6 years and at 5% for 4 years

is '{g_@‘ find the sum.
(A) %200 o
(B) T 400 RJT
(C) T 500 - -5

J}B}?T[}D

128. Price of an article increases by 20%. As a
result turnoverincreases by 12%. Find the decrease

- length of the total journey is: L
) 30km e
(B) 180km s 1
© 40km | ¢! 15
(D) 140km ’ i
A A '{" s
A

in quantity sold. I
a 5% ¥ ¢ Rl »
,{;B(sﬁ-ﬁ?% "",1:—"‘; O of WX L‘f | A=
666% 1 P YT oy
(D) 5:67% i
&
Please Turn Over
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129. If the compound rate of interest for INE 3%

2nd and 3rd year be 4%, 5% and 6% respectively,
then find the amount a man will receive at the end
of 3 years investing ¥ 25,000, A g

2% 1
3

() ATT28938 2.¢ 2;

T % (B) T27.938 02" A
©TsMs 2.,
(D) T28937 7| e b

130. The average marks obtained by a group of
10 students is 41 marks. Find the new average if
new student who scored 63 marks is also included

in the group. - : %
(A) 39 Y
(B) 40 — i
_‘[,Gﬁ/iﬁ u_rg'
(D) 45

@ In how many years will 2 sum of money
uble itself at ﬁl% simple interest per annum?

—— (gl
16 years }'?ff"*ﬁ

Y, o 1
1% ¥ 15 years "
% 0 B e ’hﬂ
>r (D) 20 years
J\r

V7 132. A man lent T 2,000 partly at 5% and the
" balance at 4%. If he receives T 92 towards annual
2% interest, find the amount lenit ar’5%.

( (A) T8OO
s S (B T900° S i
i (C), T 1,000

-
}{fl,ﬂm p /Fﬁ

133. A certain sum of money at a certain rate of
simple interest becomes double in 5 years. It will
become four times in:

1 =G
(A) 7= years % |

2 4 ”
(B) 10 years
() 15 years
(D) 20 years

b LT TSR s |

Q4 | .
< 2\7 16

hows the SUrvey op g
: ction: The diagram S |
fnl:;:len:r 500 persons with respect to thej

knowledge of Bengali, Hindi and English.

134. How many persons who do not know Hindj

Language?
265
(B) 200
(C) 255
(D). 201

s
135. In how many years a sum of ?Hﬂﬂ_auﬂ%
simple interest per annum will earn same interest
al T 1508 earns at Lﬁ% p.a. in F2 years?

K a) dyeas Ty ;ﬁ F"}i
¥ 4 years ﬂ e

(C) 5 years
(D) 6 years

136, 1f @ = 2024, b = 2023, ¢ = 2022, then the
value of (a* + b* + ¢ — ab — be — ca) is
(A) O
(B) 3
(C) 4024
(D) 2012

137. _Sn?ﬁma ranks 8th ina class of 35 students.
What is his rank from the last?

(A) 26th
(B) 27th
(C) 29th

AD) 28th
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{38. A man had 100 kgs of sugar .

. part of which
e sold at 7% profit and rest at 17% profit. Iflc
ained 10 % on the whale. How much did he sell
7% profit:

(A) 65 kg o I

(B) 35kg y

(C) 30 kg g >
70 kg

139. The simplified value of

e D)5
(A) 555
®)
1001
3
®) 205

140. If x, v, z are real and (x—20 + X +y + 22
—2yz—-2z=0; then the value of (x + ¥ + 2) 18

(A) 2

(B) 8 3
() 6 L@,;);:
(D) 10 -

141. Three numbers are
gr:atq:slﬂndmasmal]ast

143. Presentages of A and B are 50 years and 18
years respectively. In how many years will A be
twice as old as B?

are 65220'3"" and 54°39'57", then the circular
value of third angle 1s:

MWC/VIf2023

/l‘rﬁ 14 years AHE o
(B) 15 years gtV s
(C) 16 years \
(D) 18 years

144. If the measures of two angles of a triangle

(A) ™
®) 3 £’
- &l
i JE =
(C) 3 &
L
o) & l
"

oo T

145, Buluand Tathagatacando awork separately
in 20 days and 30 days respectively. After working
7 days both of them left away. Then Anita came
and completed rest of the work done alone in
10 days, How many days Anitawill take tocomplete

the work alone?

(A) 20 days Lo 3L
(B) 25 days 12" M.
(D) i;‘u:?:f the above J}/{:‘" iy I:‘;'-r
7Y
T £
- Writing : ?

146. Money : Misappropriation :
(A) Deception
(B) Mistake
Plagiarism
(D) Theft

The difference between the
number is 36. The numbers are }_1;-‘- }’},’
(A) 72, 84, 108 : *L;, 3
B) 60,72.96 - F q_?{i
(C) 72, 84,96 Gl e
L
5;}}’?2,96, 108 qvq‘ 9
142. What is the ratio between times taken by 2
train 240m long to Cross an electric pole and a
bridge of 80m len gth?
(A) 2:3 r&ﬂ{ S Y
. 2
3.4 o
(C) 4:5 ? %
(D) 5:6

Please Turn Over
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147. The length of cach of two parallel chords
AB and CD is 12cm. If the length of the radius of
the circle is 10cm, then the distance between two
chords is:

(A) 12em
(B) l4cm
(C) 16cm
(D) 18cm

148. The shape of the lower portion of a solid 18
hemisphere and the shape of upper portion of it i8
right circular cone. If the surface areas of two parts
are equal, find the ratio of the radius and height of
the cone

(A) 1:43
(B) +/3:1
(C) 2:43
(D) 3:2

Diirection: In the question there are two words
separated by ‘:" and the other two separated
from the [irst two by the symbol *::". Find the
relation between two sets ol words and select
one word from the right side of *;” which have
the same relation as left side of the word of *:27,
find the circle of the letter denoting your selected
answer on the OMR Answer Sheel,
149. Ocean : Water : : Glacier : ?

(A) Mountam

(B) Cave

) Ice

(D) Refrigerator

150. A shopkeeper sold an article at 20% loss.
Had he sold it at ¥ 200 more, he could have earned
a profit of 5%. What is cost price of the article?

®) 8000 20~ TG
(C) 700 | P
(D) 600

C-18

151. If a person walks at 14 km/hr instead o

10 km/hr, he would have w_ﬁi_kid_li]_ km more, The
actunl distance travelled by him is:
(A) 50 km
(B) 56 km
70 km
(D) 80 km

152. Theaverage weightof 30 studcflts of aclass
is 45 kg. The average wei ght of girls is STEE, a.l?d
that of boys is 49 kg. Finﬂéff_ﬂﬂ_ﬂ_ﬂqrff_ YOVS in

the class. v
(A) 10 9 .T H’r
(B) 15 -
20 = 3 i
(D) 22 Lo

Direction: In question, numbers are placed in
figures on the basis of some rules. One place in
the figure is indicated by the interrogation sign
(?). Find out the correct alternative to replace
the question mark and indicate your answer by
filling the circle of the corresponding letter of
allernatives in the OMR Answer Sheet.

7
153.
63
214 7 19
30
v 15
(A) 18
(B) 33
11 135
(D) 145

154. IfA's il?ﬂﬂmﬂis 40% less than that of B, how
much percent is B's income more than that of A?

(A) 60%
(B) 40% Ce [
€7 6629% ‘%,Eﬁl"'
} 1
D) 33iq £ 6,
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155. 4,250 is divided among 4 men, 5 women
and 6 boys sulch that the share of a man, 8 woman
and aboy are intheratio 9: 8 : 4, What is the share

a woman?
¢ wyzio 3 M M
(B) T 340 6 . \0" L
(C) T425 *
(P T1,700

15«_6. The ang_le of elevation of a ladder leaning
against a wall is 60° and the foot of the ladder is
4Tm away from the wall. The length of the ladder
152

(A) 47m
(B) 9-4m
(C) B-4m
(D) 9Tm

157. Two pipes, P and Q can fill a cistern in
12 and 15 minutes respectively. If both are opened
together and at the cnd of 3 minutes, the first is
closed. how much longer will the cistern take to fill?

(A s% minutes I 540
(B) 5 minutes ~
(©) 8L minutes C’i
— Tmin
2 1
(D L minutes ’/_:j'/ \
4 N39

158. ¥ 10,000 is borrowed at Eﬂ% p.a., interest
compounded half-yearly. Find the amount
repayable after one year. =

\ W
(A) T 11,000 _ 16252 1)
(B) 12,000 Plg——x

_4€7 12,100 tjﬂ.‘ff
(D) T 14,400

159, A retailer professes tosell his goods at cost
price. If using a false weight, he still gains 25%,
find the weight he uses in place of 1kg.

—— gl @
(A) 200 grams = "%
(B) 600 grams
(C) 750 grams —-—EE';'FT,L(

{-'(B} 800 grams

[ =]
‘qq;;,, C-19
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If the sum of three numberis 92, Istand 2nd
e

ratio 2 : 3 and 2nd and 3rd in the ratio 3 : 4.
The 15t number is:

(A) 20 2100 >
(B) 22 al B
(©) 24 /”q/—;’:*
(D) 26 ‘;’2'(.:3-, 4
‘.’_,_.'--""'

161. A boat running downstream covers 24km
in 4 hours, while for covering the same distance
upm it takes 6 hours. What is the speed of the
boat in still water?

() 35kmhe oy 7'1’511 2k
(B) 5-5 km/hr SA
(C) 6 km/hr )

5 km/hr
2 Sak

162. The roots of the equation £ =6
(A) O &
(B) 6
(C) 0,6
(D) —6 .

163. The difference between simple interest and
compound interest on T 1,200 for one year at 10%

per annum reckoned half-yearly is o
- \
(A) :i 50 e ¢ I'H =
(C) T3T5 09 A "LL%E;
D) T4 %‘ 12
<0’ 1~y
164. Successive discounts of 50% and 50% i

equivalent to

(A) 100% - f{.:._;"-?
75% -

©) 50% -

(D) 25%

Please Turn Over
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3 2= N~ ) simplifies g
Direction: In the guestion same codes have 170. [_l%?_j-+-—'—'_z+ ﬁ+ 4l
been used to write words, Try to find oul the 2
rule of coding in each case and answer as per (A) 16-3
direction in the OMR Answer Sheel. N
4-+3
165. In a coding system. TIE = 34, NOW = 52, (B)
then what will be code for WAX =7 © 2-43
46
(C) 48 ffering ‘Buy 3, get 1 free’.
171. A cloth store is ofte
\° fﬁ 7 (D) 45 21,050. A Wha is the net percentage discount being offered
166. The marked price of an article is by the store?
Eq' customer pays T 798 for it with two suiccessive 4 0% \
discounts. If the rate of first discount is 2 20%, the (A) L
rate of second discount is: 25% iy
B0 5% St (C) 30%
/ﬁé{ \D)o® D) 33:%
VY (0 8% 3
= (D) 10%

1”\
167. The salary of a man is decreased by 50%
<+ and then in the next year it is increased by 60%,

¢ then the resultant increment of his salary is:

wr g‘?’ (A) 10% 4
A (B) 15% ﬂ“%;;
& _20% -

(D) -25%

168. Two vessels contain mixture of milk and
water in the ratio 5 : Iand 3 : | respectively. Find
the ratio of milk and water in in the new solution, if
two mixtures are mixed m_cqg;;l__ amaount,

' () 5:2 o 6 }
(B) 3:1 =

g 1¢ (C) 8:3 @L;;I’_ :'}:
APy 41715 ﬂﬁ’!’ s

169. A cloth merchant sold hn]f of his cloth at
20% profit, half of the remaining cloth at 20% loss
and the rest was sold at its cost rice. In the total
transaction, his gain or loss will be

5% profit
2 rsd
e @ “(B) Neither loss nor gain
jo - ¢ (C) 5% loss

(D) 10% profit

172. Aplpccanﬁllatankwtth wamrm 3 hours.
Ducmlﬁakngcmbuttom it takes 32 hours to fill it,
In what time the leak will cgjpgth_cﬁﬂl}'ﬁllﬂd tank?

D < (A)
(B) 21 hours
pée? (g 61 hours

12 hours " 2

[N %E-L'

(D) m% houss {5

repr

The Sthand 11th termof an AP, are 41 and
20 respectively. The first term is

(A) 45 i

E ggw"f & u
e U ER R Oy Y]

(D) a5 wl

174. If it is Saturday on January 1, 2000, then
January 1, 2001 will be

}M/Mnndny
(B) Tuesday
(C) Friday

(D) Saturday



1 2
{75. = rd of a number is 26, Fingd ouL 25% of th
nﬂmt’:[' 1\,2 :
(A) 935 el
(B) 9-45 s & K
9-55 },q' :
7 S 9-C

}]}I 975

176. A shopkeeper marks his goods 20% ab
ove

cost price, but allows 30% discount .
S o  discount for cash. His

(A) 8% | 22 Ky
(B) 10% 1

16% &Y
(D) 20%

177. A, B and C together undertook a work for

7550, AandB together done 2 of the work. Fi

— = - rk. F

C's share. 1] ' i
(A) 50
(B) 150

/eej’nnﬂ

(D) ¥ 350

7 A

178. Salary of a person is increased by 20%, then
itis decreased by 20%. Change in his salary is:

4% decreased
'ﬁ 4% increased | 14 R
(C) 8% decreased g ¢

(D) remains same

179. A shopkecper earns @ profit of 12% on
selling abookat 10% discounton the printed price.
The ratio of the cost price to the printed price of the

book 18 4
kS 45:56 1L
(B) 50:61 ‘i'fmﬂ e
{C) 55:69 1{-"" ' -“"E;
(D] 99'12.5 cl‘? ' “1"?

180. A bagcontainsT 112 inthe ff_u_r.r_l:}ut' |-rupee,
50-paise and 10-paisc cOINS in the raio 3:8:10.
What i;i.?@b_ajiﬁﬂﬂiﬁ: coins?

112
(B) 108 (rerdar T
(C) 96 g ﬂ;__l_!-;
(D) 84 g -

C-21
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181. On selling an article for a certain price, &
man loses 30%. What is his loss/profit percent. if
he sells thu'?ﬁiclde_tb_rgm_ulill:__tp_g_pri:e?

(A) 60% loss

(B) 15% loss
409 profit

(D) 30% profit

[

182. In a hotel 60% had ve_g_:!.a:ian lunch while

30% had non-vegetarian 1_|ur;cha1d 15% had both

t},rpes_n_f I.'-L“‘:h- If 96 people were present, how
many did not eat either g:gg_+ of lunch?
5y 08 f o 10 3°
2 *3 7
5 N 2 ’
o

183. 1f the length of two diagonals of a rhombus
are 24 ¢m and 10 cm, the perimeter of rhombus 18

(A) 13 cm
(B) 26.cm
(C) 52cm
(D) 25 cm

Direction: In the question three out of four
figures are alike in same respect and one is
different from others. Find out the odd figure
and indicate your answer by filling the circle of
the letter denoting your selected answer on the

e

(A)

(D)

);Bﬁ

Please Turn Over
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s : In question,
’;etﬂ"“ » MUimberg
e T
it sestion mark ect alternagjyy to i
#ed and indicate you Feplace
gling the circle of the coprpeg Fanswer by

. Pondi
tives in the OM ng lette
#ﬂl R nswﬂ- Sh L T ol
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194. 20% loss on selling price is
i 15 what percent

/(4&} 25%

B) 15%

2
C) 16=
(©) 165%

1
(D) lﬁ-i%

195, A alone can do a piece of work in 21 days.
B whois 40% more efficient than A, will finish the
work in: \

A
(A) 10 days oe B
(B 12 days {" L q
15 days O
(D) 18 days Qf;";
196. If the volume of two solid right circular
cylinders are same and their height are in the ratio
1:3, then the ratio of lengths of radii 1s:
(A) V3:1
(B) 1:43
(C) 1:3
(D) 3:1

e
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197. Due to an increase of 50% in the price of
eggs, 4 cggs are available for ¥ 24. The presentrate
of egps per dozen is:  ~ i

(A) 224 g et o
(B) 227 i

(C) T36 a3 ~

(D) T42 \ q1-

Bl - ¢
z) Tn
Direction: Read the following information and
answer the question given below:
There are six children playing football namely
A, B, C, D, E, F. A and E are brothers; F is the
sister of E; C is the only son of A's uncle; B and
D are the daughters of the brother of C's father.
198. How C is related to F!

(A) Brother

(B) Uncle

(C) Son

)B'i Cousin

199, The monthly incomes of two persons are in
the ratio 2 ; 3 and their monthly expenses are inthe
ratio 5 : 9. If each of them saves ¥ 600 per month,
then their monthly incomes are

(A) ¥ 1,500;:T 2,250
(B) ¥ 1,200;% 1,800

T 1.600; T 2,400
(D) ¥ 1,400;% 2,100

1822 | ¢ >

200. A270meters long train running at the speed
of 120kmph crosses another train running in
opposite direction at the speed of 80kmph in

g seconds. What is the length of the other train?

230m
(B) 240m oqoth, AL
Whts = Ui
(D) 320m o Sl
ap
(ve Ui
Yo L





